
 
124

4 8 22 Exam info

All A's 90 100

All B's 80 89

All C's 60 79

D 50 59

F C 50

Median 91

Mean 86.8

Solutions will be postedMonday

on Monday you started 56.2
integration bysubstitution

Mainformula

To find fflglalglx dx you set a glx as If g'd so

du g x dx

to convert f to fflul du Then look for an antiderivative of fix
Reverseofchainrule

Then substituteback

E f xeddx let u x du zxdx

Sxeddx Jet xd fe du e te e etc check

Note there'snogoodanswer for fedde

Ex kf dy u lulu a du Mdx dy

f ax fu du fu te t lulu te check
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E f ax u ite e

du e dy

fut du lulu c zlulite c Check

E fEY dy u lux du dx

f Tu du fukin 3 c lax

E 1 6 1 dx u x i du dx

x ut I

f cutin du flu a'o du fu t f u c

xx t f x 1 t c

E Jefe dx a I

duc y dx Izdx

e du ite a É te

Ey Ift dy u x't due 3x'dx I due x'd

f s fu du Itala x'til re 3Mite
C
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E SE at Itf at fli f at att
du dt

f i f d u u Atul te e tt l la tail c

II ax u Hex

Ex at du É dx

Problem Not obvioushow to convert x to a uniformly

as I try I n t A t h l f z y

dx 2x du 2 at du

f tf zcu d du ez tutted du 2
24
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4du

2
2
du z f u 3 E du

2 In 34 2 lulu c

2 I I Tx t 3 Ita 2k HAD C

HA t 6 itf Au ith c

This is a pain to check


